W 270 kg

N 4 |
=M 10 |
A 78 = | 78 x 10° |
N = 2 |
=| 555 | [0.555 m
L= 724 Im=  [0.724 |m
Lo=| 301 il L/2)=(0.301 |m
() Kn= 2.0 \
() Kv=Ki 2= 10 \
() Fh=kh W9. 8= 5292.0 |
() Fv=kv W9. 8= 2646.0 |
Fh Hg-(W 9.8-Fv) Lg
() N \ 2028. 4 |
() QN NE| 1323.0 |
()
o =Rl A= 26.0 |MPa ft= 176 Ma
T QA 17.0 |MPa fs= 101 Ma
fts =1 4ft-1.61 = 219.2 MPa
fts'  ft fts=fts' fts' >ft fts=ft fts= 176.0 |MPa
o= 26.0 | Ma fts=| 176.0 |MPa
= 180 me | 0180 |m
= 130 me | 0130 |m
Ta=| 5488 | N Ro= | 2028 N
1220 760
g
A
n
B
' l 1] I
400 301 '
<>
1060 80 S 7 BN
I
12-01- 30 [ WYNB0-9230 | [ <]

(V1)



